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a2  =  b2 +  c2 −2bc cosA

€ 

cosA  =  b2 +  c2 −a2

2bc

FINDING AN UNKNOWN SIDE
NOTE: requires knowing 2 sides and the angle between them.

€ 

a2  =  b2 +  c2 − 2bc cos A

  =   62  +  92 − 2× 6× 9× cos32°

a2  =   25 ⋅ 410.....
a    =  25 ⋅ 410.....

=   5 ⋅ 040.....
BC ≈   5 ⋅0 m

Find the length of side BC.
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FINDING AN UNKNOWN ANGLE
NOTE: requires knowing all 3 sides.

€ 

cos A  =  b2 +  c2 − a2

2bc

  =   62  +  92 − 52

2 ×6 ×9
cos A  =   0 ⋅ 85185.....

A  =   cos-1 0 ⋅ 85185.....( )

=   31.586.....

∠BAC ≈ 31⋅ 6°

Find the size of angle BAC.
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